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- Efficiency

- Resolution

- Stability
- Flexibility

- Reliability

- Repeatability
- Scalability

- Flexibility
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Remove bias

Remove cosmics
Remove background
Perform flat-fielding

Convert to physical units

R —

k ™

Co-add exposures
Detect absorption lines
Fit emission continuum

Fit absorption systems



Pixel conservation
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ESPRESSO Data Analysis Software
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Coaddition
Line detection

Continuum fit

Line
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Voigt fit




@ DAS Ast roco&ﬂ

https://github.com/DAS-OATs/astrocook

Coaddition

Coaddition '
Redshift
match
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detection
Power -

Line detection

Continuum fit
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@ python

Voigt fit




spec = SpeclDReader().uves(filename)

spec.plot()

- - N N w
o v o w o
1 1 1 1 |

Flux [1e-17 erg / (Angstrom cm2 s)]
()]

494

495

496 497 498
Wavelength [nm]

499

500



Flux [1e-17 erg / (Angstrom cm?2 s)]

spec =
line =

line.find()

line.plot()

Spec1DReader().uves(filename)

Line(spec)
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spec
line

line.
line.

line.

= SpeclDReader().uves(filename)

= Line(spec)
find()
cont()

plot()
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spec = SpeclDReader().uves(filename)
line = Line(spec)

line.find()
line.cont()
for 1L 1in line:

group = line.group(1)

line.plot(group)
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spec
line
line
line

for L in line:
group = line.group(1)

= SpeclDReader().uves(filename)
= Line(spec)

.find()
.cont()

norm_guess = line.norm(group)

line.plot(group)

voigt_guess = line.voigt(group)
psf = line.psf(group)
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Flux [1e-17 erg / (Angstrom cm2 s)]

spec = SpeclDReader().uves(filename)
line = Line(spec)
line.find()
line.cont()
for L in line:
group = line.group(1)
norm_guess = line.norm(group)
voigt_guess = line.voigt(group)
psf = line.psf(group)
fit
line.plot(group)

line.fit(group, norm_guess, voigt_guess, psT)

w
1

[

T

494

495

496 497 498
Wavelength [nm]

499

500



spec = SpeclDReader().uves(filename)
line = Line(spec)
line.find()
line.cont()
for 1 in line:
group = line.auto(1)
line.plot(group)

group 1, y? = 2.14
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spec = SpeclDReader().uves(filename)
line = Line(spec)
line.find()
line.cont()
for 1 in line:
group = line.auto(1)
line.plot(group)

group 2, x¥° = 2.91
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Flux [1e-17 erg / (Angstrom cm2 s)]

spec = SpeclDReader().uves(filename)
line = Line(spec)
line.find()
line.cont()

for 1 1n

line:

group = line.auto(1)
line.plot(group)

group 3, x* = 0.94
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Flux [1e-17 erg / (Angstrom cm2 s)]

spec = SpeclDReader().uves(filename)
line = Line(spec)
line.find()
line.cont()
for 1 in line:
group = line.auto(1)
line.plot(group)

group 4, x> = 1.98
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spec
line

line.

line

Spec1DReader().uves(filename)

Line(spec)
find()
cont()

for 1 1n

line:

group = line.auto(1)
line.plot(group)

group 5, x? = 0.97
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spec = SpeclDReader().uves(filename)
line = Line(spec)
line.find()
line.cont()
for 1 in line:
group = line.auto(1)
line.plot(group)

line.plot()
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Astrocook
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